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1/ Read the text and answer the following questions:

s Saterday morming, Andrew oefs up early. He washes his face, combs his hair.
Then, he brushes his reeth in the bathroom gfter he has bredkfast. Arseven forry,
he takes his baz and goes ro school with his friend Hary. In the gfternoon, the
lwo friends spend lwo whole hotwrs swimming in the swimming-pool. After tha,

they 2o ro the restaurant, buy two sandwiches and go ro the zoo o see the wild
amimals i their cqges. the lion, rhe teer, the bea; rthe girglfe aid the monkey.

They ear theirsandwiches and fwo ice-creams and go back home very sarisfied.

Section I:Reading (4 marks)

A-Tick the right answer v’
Andrd___1to school alore.
Andrew goes (0 5chok: — Sitend Harry.
Harry and Andrew eat ///e; mm;';/clies at the zoo.
B-Look at the picture and g:cle the animals-mentiorned in the lext:

\4
:‘ ' 'ilatnlust-\liiuto i,l-iakaa u!
Ny 1

B R e S

a/m’ Harry spend nwo /10///: m the |
.................... then go lo the zoo lo see the wild ||
animals.

Wash - brush - comb dmf

A/ Complete with words from the box:

Y my teeth gfter breakfast.
FOUNR o 3 i 5 s i B her hatr in front of the minor.
Thomas and Peter..........c..cucauerernecnn.-.. thetr faces in the bathroom.

8 7. 77 fer milk in the morning




B look at the pictures and put the letrers in order fo make words:

Frery Sunday, my father 1ahes @.....u..... AN GOES [0 LRE .neeermrnrenm..
sikibrave Alvmse/a’r
FTELRVE s R T i < L AR
niabials/n/a plapiies es/c/liee

C/maitch the senfence with the picture.

L he camel is on the right,
The camel is between the girglfe and the tieer.

The camel is next fo the tiger.
Section 3 Writiner 3 marks)
A/ Put the words in order fo ger pood senfences.

a 'V set -and - there’s - a sofa - in the living-room.

B/ answer the following guestions:
0 G B S0P, cniuiviimmmioininsas T R Sy

Is the police station on the right?
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T S — T — de Tavile. 1l sont

............. apres-midssur facelebre avenue bordant [ mer appelee «la promenade des
Anglais.

Niveau de Critéres minimouy C‘nl.ém de
perfectionnement
matfrise cf 7
0
+ 7 delal7
++ 2
+++ J Note : V4






